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ECONOMICS

•Õ¸‡ÊÊSòÊ
(318)

Time : 3 Hours ] [ Maximum Marks : 100

‚◊ÿ — 3 ÉÊá≈U ] [ ¬ÍáÊÊZ∑§ — 100

Note : (i) All questions are compulsory.

(ii) Marks allotted to each question are indicated against it.

(iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B), (C) and (D)
out of which one is most appropriate.  Choose the correct answer among the four
alternatives and write it in your answer-book against the number of the question.  No
extra time is allotted for attempting multiple choice questions.

ÁŸŒ¸‡Ê — (i) ‚÷Ë ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞–

(ii) ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ‚Ê◊Ÿ ©‚∑§ •¥∑§ Á‹π ª∞ „Ò¥–

(iii) ¬˝‡Ÿ ‚¥ÅÿÊ 1 ‚ 10 Ã∑§ ∑§ ¬˝àÿ∑§ ¬˝‡Ÿ ◊¥ øÊ⁄U Áfl∑§À¬ - (A), (B), (C) ÃÕÊ (D) „Ò¥, Á¡Ÿ◊¥ ‚ ∞∑§ ‚’‚
©¬ÿÈÄÃ „Ò–  øÊ⁄UÊ¥ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚„Ë ©ûÊ⁄U øÈŸ¥ ÃÕÊ •¬ŸË ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ ∑§ ‚Ê◊Ÿ ©ûÊ⁄U Á‹π¥–
’„È-Áfl∑§À¬Ë ¬˝‡ŸÊ¥ ∑§ Á‹∞ •ÁÃÁ⁄UÄÃ ‚◊ÿ Ÿ„Ë¥ ÁŒÿÊ ¡Ê∞ªÊ–

1. Which of the following is a measure of central tendency ? 1
(A) Arithmetic mean (B) Quartile
(C) Mode (D) All of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ãŒ˝Ëÿ ¬˝flÎÁûÊ ∑§Ê ◊Ê¬ „Ò?
(A) •¥∑§ªÁáÊÃËÿ ◊Êäÿ (B) øÃÈÕ¸∑§
(C) ’„È‹∑§ (D) ©¬⁄UÊÄÃ ‚÷Ë

2. Which of the following is a capital receipt ? 1
(A) Recovery of Loan (B) Borrowings
(C) Disinvestment (D) All of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ë ¬Í°¡ËªÃ ¬˝ÊÁåÃ „Ò?
(A) ´§áÊ ∑§Ë fl‚Í‹Ë (B) ©œÊ⁄U ‹ŸÊ
(C) ÁflÁŸfl‡Ê (D) ©¬⁄UÊÄÃ ‚÷Ë

3. Marginal utility can never be __________. 1
(A) negative (B) more than total utility
(C) zero (D) equal to total utility

‚Ë◊ÊãÃ ©¬ÿÊÁªÃÊ ∑§÷Ë Ÿ„Ë¥ „Ê ‚∑§ÃË __________–
(A) ´§áÊÊà◊∑§ (B) ∑È§‹ ©¬ÿÊÁªÃÊ ‚ •Áœ∑§
(C) ‡ÊÍãÿ (D) ∑È§‹ ©¬ÿÊÁªÃÊ ∑§ ’⁄UÊ’⁄U
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4. Indifference curve is always __________. 1

(A) parallel to ox-axis (B) negatively sloped straight line

(C) parallel to oy-axis (D) None of the above

•ŸÁœ◊ÊŸ fl∑˝§ ‚ŒÒfl __________–

(A) ox - •ˇÊ ∑§ ‚◊ÊŸÊãÃ⁄U „ÊÃË „Ò (B) ´§áÊÊà◊∑§ …∏‹ÊŸ flÊ‹Ë ‚ËœË ⁄UπÊ „ÊÃË „Ò

(C) oy - •ˇÊ ∑§ ‚◊ÊŸÊãÃ⁄U „ÊÃË „Ò (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

5. Average product rises when __________. 1

(A) MP > AP (B) MP > TP

(C) TP rises (D) MP rises

•ÊÒ‚Ã ©à¬ÊŒ ’…∏ÃÊ „Ò ¡’ __________–

(A) ‚Ë◊ÊãÃ ©à¬ÊŒ > •ÊÒ‚Ã ©à¬ÊŒ (B) ‚Ë◊ÊãÃ ©à¬ÊŒ > ∑È§‹ ©à¬ÊŒ

(C) ∑È§‹ ©à¬ÊŒ ’…∏ÃÊ „Ò (D) ‚Ë◊ÊãÃ ©à¬ÊŒ ’…∏ÃÊ „Ò

6. In a situation of excess supply of a commodity _________. 1

(A) its price starts rising

(B) its demand and price start falling

(C) its price starts falling and its demand starts rising

(D) its demand and supply both starts falling

∞∑§ flSÃÈ ∑§Ë •Ê¬ÍÁÃ¸ •ÊÁœÄÿ ∑§Ë ÁSÕÁÃ ◊¥ _________–

(A) ©‚∑§Ë ∑§Ë◊Ã ’…∏Ÿ ‹ªÃË „Ò–

(B) ©‚∑§Ë ◊Ê°ª •ÊÒ⁄U ∑§Ë◊Ã ÉÊ≈UŸ ‹ªÃË „Ò–

(C) ©‚∑§Ë ∑§Ë◊Ã ÉÊ≈UŸ •ÊÒ⁄U ◊Ê°ª ’…∏Ÿ ‹ªÃË „Ò–

(D) ©‚∑§Ë ◊Ê°ª •ÊÒ⁄U •Ê¬ÍÁÃ¸ ŒÊŸÊ¥ ÉÊ≈UŸ ‹ªÃË „Ò–

7. The value of mpc can be __________. 1

(A) greater than the value of mps

(B) less than the value of mps

(C) equal to the value of mps

(D) any one of the above

‚Ë.©.¬˝. (mpc) ∑§Ê ◊ÍÀÿ __________–

(A) ‚Ë.’.¬˝. (mps) ‚ •Áœ∑§ „Ê ‚∑§ÃÊ „Ò

(B) ‚Ë.’.¬˝. (mps) ‚ ∑§◊ „Ê ‚∑§ÃÊ „Ò

(C) ‚Ë.’.¬˝. (mps) ∑§ ’⁄UÊ’⁄U „Ê ‚∑§ÃÊ „Ò

(D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ ÷Ë
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8. Which of the following equations is incorrect ? 1

(A) APC+APS=1 (B) MPC+MPS=1

(C) = 

− 

1
K 

1 MPC
(D) None of the above

ÁŸêŸÁ‹ÁπÃ ‚◊Ë∑§⁄UáÊÊ¥ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ‚„Ë „Ò?

(A) •ÊÒ.©.¬˝. (APC)+•ÊÒ.’.¬˝. (APS)=1 (B) ‚Ë.©.¬˝. (MPC)+‚Ë.’.¬˝. (MPS)=1

(C)
1

K 
1  (MPC)

= 

− ‚Ë.©.¬˝. (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

9. Which of the following statements is true ? 1

(A) MPC and Investment multiplier are inversely related

(B) APS and Investment multiplier  are directly related

(C) There is no relation between  APC  and Investment multiplier

(D) MPS and Investment multiplier are directly related

ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÊ¥ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∆UË∑§ „Ò?

(A) ‚Ë.©.¬˝. (MPC) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ Áfl¬⁄UËÃ ‚ê’ãœ „ÊÃÊ „Ò–

(B) •ÊÒ.’.¬˝. (APS) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ ¬˝àÿˇÊ ‚ê’ãœ „ÊÃÊ „Ò–

(C) •ÊÒ.©.¬˝. (APC) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ ∑§Êß¸ ‚ê’ãœ Ÿ„Ë¥ „ÊÃÊ

(D) ‚Ë.’.¬˝. (MPS) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ ¬˝àÿˇÊ ‚ê’ãœ „ÊÃÊ „Ò–

10. Fiscal policy is the economic policy of __________. 1

(A) Post offices (B) Central Government

(C) Central Bank of the Country (D) Commercial Banks

⁄UÊ¡∑§Ê·Ëÿ ŸËÁÃ •ÊÁÕ¸∑§ ŸËÁÃ „ÊÃË „Ò __________.

(A) «UÊ∑§ ÉÊ⁄UÊ¥ ∑§Ë (B) ∑§ãŒ˝Ëÿ ‚⁄U∑§Ê⁄U ∑§Ë

(C) Œ‡Ê ∑§ ∑§ãŒ˝Ëÿ ’Ò¥∑§ ∑§Ë (D) flÊÁáÊÁíÿ∑§ ’Ò¥∑§Ê¥ ∑§Ë

11. What is meant by fuller utilisation of resources ?  Explain. 3

‚¥‚ÊœŸÊ¥ ∑§ ‚flÊ¸ûÊ◊ ©¬ÿÊª ∑§Ê ÄÿÊ •Õ¸ „ÊÃÊ „Ò?  ‚◊¤ÊÊß∞–

12. Explain the problem of ‘how to produce’. 3

“∑Ò§‚ ©à¬ÊŒŸ ∑§⁄¥U” ∑§Ë ‚◊SÿÊ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

13. Explain the meaning of : 3

(a) marginal rate of substitution and

(b) budget set

ÁŸêŸÁ‹ÁπÃ ∑§ •Õ¸ ‚◊¤ÊÊß∞ —

(a) ‚Ë◊ÊãÃ ¬˝ÁÃSÕÊ¬Ÿ Œ⁄U

(b) ’¡≈U ‚≈U
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14. Explain any two causes of a rightward shift of demand curve. 3

◊Ê°ª fl∑˝§ ∑§ ŒÊ°ÿË •Ê⁄U Áπ‚∑§Ÿ ∑§ Á∑§ã„Ë¥ ŒÊ ∑§Ê⁄UáÊÊ¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

15. Describe ‘product differentiation’ feature of monopolistic competition. 3

∞∑§ÊÁœ∑§Ê⁄UÊà◊∑§ ¬˝ÁÃÿÊÁªÃÊ ∑§Ë “©à¬ÊŒ Áfl÷Œ” Áfl‡Ê·ÃÊ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞–

16. What is meant by excess demand of a commodity ? What will be its effect on price of the
commodity ? Explain.

∞∑§ flSÃÈ ∑§Ë “◊Ê°ª •ÊÁœÄÿ” ∑§Ê •Õ¸ ’ÃÊß∞–  ß‚∑§Ê flSÃÈ ∑§Ë ∑§Ë◊Ã ¬⁄U ÄÿÊ ¬˝÷Êfl „ÊªÊ?  ‚◊¤ÊÊß∞–

17. State three characteristics of Index numbers. 3

‚Íø∑§Ê¥∑§Ê¥ ∑§Ë ÃËŸ Áfl‡Ê·ÃÊ∞° ’ÃÊß∞–

18. Calculate gross value added at market price. 3

(i) Intermediate consumption   500

(ii) Net value of output at factor cost 2000

(iii) Depreciation   200

(iv) Indirect taxes   150

(v) Subsidies     50

’Ê¡Ê⁄U ◊ÍÀÿ ¬⁄U ‚∑§‹ ◊ÍÀÿ flÎÁh ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —

(i) ◊äÿflÃË¸ ©¬÷Êª   500

(ii) ‚ÊœŸ ‹ÊªÃ ¬⁄U ÁŸfl‹ ©à¬ÊŒŸ ◊ÍÀÿ 2000

(iii) ◊ÍÀÿOÊ‚   200

(iv) •¬˝àÿˇÊ ∑§⁄U   150

(v) •ÊÁÕ¸∑§ ‚„ÊÿÃÊ     50

19. Explain the equilibrium level of income with help of C and I curves. 3

©¬÷Êª •ÊÒ⁄U ÁŸfl‡Ê fl∑˝§Ê¥ ∑§Ë ‚„ÊÿÃÊ ‚ •Êÿ ∑§ ‚¥ÃÈ‹Ÿ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

20. State any three functions of money. 3

◊ÈŒ˝Ê ∑§ ∑§Êß¸ ÃËŸ ∑§Êÿ¸ ’ÃÊß∞–

3
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21. Calculate arithmetic mean : 4

•¥∑§ªÁáÊÃËÿ ◊Êäÿ ∑§Ê ¬Á⁄U∑§‹Ÿ ∑§ËÁ¡∞ —

Marks Number of Students

•¥∑§ ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¥ÅÿÊ

0-20 10

20-40 15

40-60 20

60-80 15

80-100 10

22. Quantity supplied of a commodity rises from 400 to 500 units when its price rises by
20 percent.  Calculate its price elasticity of supply.

∞∑§ flSÃÈ ∑§Ë ∑§Ë◊Ã ∑§ 20 ¬˝ÁÃ‡ÊÃ ’…∏Ÿ ‚ ©‚∑§Ë •Ê¬ÍÁÃ¸ ◊ÊòÊÊ 400 ß∑§Êß¸ ‚ ’…∏∑§⁄U 500 ß∑§Êß¸ „Ê ¡ÊÃË „Ò–
ß‚∑§Ë ¬ÍÁÃ¸ ∑§Ë ∑§Ë◊Ã ‹Êø ∑§Ê ¬Á⁄U∑§‹Ÿ ∑§ËÁ¡∞–

23. Explain any two determinants of propensity to consume. 4

©¬÷Êª ∑§Ë ¬˝flÎÁûÊ ∑§ Á∑§ã„Ë¥ ŒÊ ÁŸœÊ¸⁄U∑§Ê¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

24. Distinguish between : 4

(a) Implicit cost and explicit cost

(b) Fixed cost and variable cost

÷Œ ∑§ËÁ¡∞ —

(a) •¥ÃÁŸ¸Á„Ã ‹ÊªÃ •ÊÒ⁄U S¬c≈U ‹ÊªÃ

(b) ÁSÕ⁄U ‹ÊªÃ •ÊÒ⁄U ¬Á⁄UflÃË¸ ‹ÊªÃ

25. Define fiscal deficit.  State three ways by which central government finances this deficit.

⁄UÊ¡∑§Ê·Ëÿ ÉÊÊ≈U ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞–  ‚⁄U∑§Ê⁄U mÊ⁄UÊ ß‚ ÉÊÊ≈U ∑§ ÁflûÊ ¬Ê·áÊ ∑§ ÃËŸ Ã⁄UË∑§Ê¥ ∑§Ê ’ÃÊß∞–

26. Explain any two main problems faced under the barter system of exchange. 4

flSÃÈ ÁflÁŸ◊ÿ ¬˝áÊÊ‹Ë ∑§Ë Á∑§ã„Ë¥ ŒÊ ◊ÈÅÿ ‚◊SÿÊ•Ê¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

4

4
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27. Calculate National Income. 6

(Rs. in lakhs)

(i) Mixed income of self employed 290

(ii) Rent 20

(iii) Compensation of employees 100

(iv) Net exports       −(10)

(v) Net indirect taxes 20

(vi) Net factor income from abroad       −(15)

(vii) Profit 40

(viii) Interest 15

(ix) Bonus 25

(x) Employees contribution to social security 10

⁄UÊc≈˛UËÿ •Êÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —

(L§. ‹ÊπÊ¥ ◊¥)

(i) SflÁŸÿÊÁ¡ÃÊ¥ ∑§Ë Á◊ÁüÊÃ •Êÿ 290

(ii) Á∑§⁄UÊÿÊ 20

(iii) ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê ¬ÊÁ⁄UüÊÁ◊∑§ 100

(iv) ÁŸfl‹ ÁŸÿÊ¸Ã       −(10)

(v) ÁŸfl‹ •¬˝àÿˇÊ ∑§⁄U 20

(vi) ÁflŒ‡ÊÊ¥ ‚ ÁŸfl‹ ‚ÊœŸ •Êÿ       −(15)

(vii) ‹Ê÷ 40

(viii) éÿÊ¡ 15

(ix) ’ÊŸ‚ 25

(x) ‚Ê◊ÊÁ¡∑§ ‚È⁄UˇÊÊ ◊¥ ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê ÿÊªŒÊŸ 10

28. Distinguish between : 6

(a) Real flows and money flows

(b) Domestic income and National income

ÁŸêŸÁ‹ÁπÃ ◊¥ ÷Œ ∑§ËÁ¡∞ —

(a) flÊSÃÁfl∑§ ¬˝flÊ„ •ÊÒ⁄U ◊ÊÒÁŒ˝∑§ ¬˝flÊ„

(b) ÉÊ⁄U‹Í •Êÿ •ÊÒ⁄U ⁄UÊc≈˛UËÿ •Êÿ
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29. Calculate Quartile Deviation and Coefficient of Quartile Deviation. 6

øÃÈÕ¸∑§ Áflø‹Ÿ •ÊÒ⁄U øÃÈÕ¸∑§ Áflø‹Ÿ ªÈáÊÊ¥∑§ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —
Marks Number of Students

•¥∑§ ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¥ÅÿÊ
4 6

5 8

6 10

8 14

10 12

30. Explain the law of variable proportions with the help of a marginal product schedule.

∞∑§ ‚Ë◊ÊãÃ ©à¬ÊŒ ÃÊÁ‹∑§Ê ∑§Ë ‚„ÊÿÃÊ ‚ ¬Á⁄UflÃË¸ •ŸÈ¬ÊÃÊ¥ ∑§ ÁŸÿ◊ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

31. Define price elasticity of demand.  State the factors that affect price elasticity of demand.

◊Ê°ª ∑§Ë ∑§Ë◊Ã ‹Êø ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞–  ◊Ê°ª ∑§Ë ‹Êø ∑§Ê ¬˝÷ÊÁflÃ ∑§⁄UŸ flÊ‹ ∑§Ê⁄U∑§Ê¥ ∑§Ë ‚ÍøË ’ŸÊß∞–

32. Calculate Rank-correlation. 6

∑˝§◊ ‚„-‚¥’¥œ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞–

Marks in English

•¥ª̋¡Ë ◊¥ •¥∑§
10 8 13 5 14

Marks in Hindi

Á„ãŒË ◊¥ •¥∑§
12 14 7 9 8

- o O o -

6

6
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ECONOMICS

•Õ¸‡ÊÊSòÊ
(318)

Day and Date of Examination :

(¬⁄UËˇÊÊ ∑§Ê ÁŒŸ fl ÁŒŸÊ¥∑§)

Signature of Invigilators :

(ÁŸ⁄UËˇÊ∑§Ê¥ ∑§ „SÃÊˇÊ⁄U) 1. 

2. 

General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.
2. Please check the Question Paper to verify that the total pages and total number of questions contained in the

Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper code No. 64/OSS/2-B on the Answer-Book.
5. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one

of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the Answer-
Book.

(b) If you choose to write the answer in the language other than Hindi and English, the responsibility for any
errors/mistakes in understanding the question will be yours only.

‚Ê◊Êãÿ •ŸÈŒ‡Ê —
1. ¬⁄UËˇÊÊÕË¸ ¬˝‡Ÿ-¬òÊ ∑§ §¬„‹ ¬Îc∆U ¬⁄U •¬ŸÊ •ŸÈ∑˝§◊Ê¥∑§ •fl‡ÿU Á‹π¥–
2. ∑Î§¬ÿÊ ¬˝‡Ÿ-¬òÊ ∑§Ê ¡ÊÚ°ø ‹¥ Á∑§ ¬˝‡Ÿ-¬òÊ ∑§ ∑È§‹ ¬Îc∆UÊ¥ ÃÕÊ ¬˝‡ŸÊ¥ ∑§Ë ©ÃŸË „Ë ‚¥ÅUÿÊ „Ò Á¡ÃŸË ¬˝Õ◊ ¬Îc∆ ∑ §‚’‚ ™§¬⁄U ¿U¬Ë „Ò– ß‚

’ÊÃ ∑§Ë ¡ÊÚ°ø ÷Ë ∑§⁄U ‹¥ Á∑§ ¬˝‡Ÿ ∑˝ Á◊∑§ UM§¬ ◊¥ „Ò¥–
3. § ©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ◊¥ ¬„øÊŸ-Áøq ’ŸÊŸ •ÕflÊ ÁŸÁŒ¸c≈U SÕÊŸÊ¥ ∑§§•ÁÃÁ⁄UÄÃ ∑§„Ë¥ ÷Ë •ŸÈ∑˝§◊Ê¥∑§ Á‹πŸ ¬⁄U ¬⁄UËˇÊÊÕË¸ ∑§Ê •ÿÊÇÿ ∆U„⁄UÊÿÊ

¡ÊÿªÊ–
4. •¬ŸË ©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ¬⁄U ¬˝‡Ÿ-¬òÊ ∑§Ë ∑§Ê«U ‚¥ÅÿÊ 64/OSS/2-B Á‹π¥–
5. (∑§) ¬˝‡Ÿ-¬òÊ ∑§fl‹ Á„¥ŒË/•¥ª˝¡Ë ◊¥ „Ò–  Á»§⁄U ÷Ë, ÿÁŒ •Ê¬ øÊ„¥ ÃÊ ŸËø ŒË ªß¸ Á∑§‚Ë ∞∑§ ÷Ê·Ê ◊¥ ©ûÊ⁄ Œ ‚∑§Ã „Ò¥ —

•¥ª˝¡Ë, Á„¥ŒË, ©ŒÍ¸, ¬¥¡Ê’Ë, ’°ª‹Ê, ÃÁ◊‹, ◊‹ÿÊ‹◊, ∑§ãŸ«∏, Ã‹ÈªÈ, ◊⁄UÊ∆UË, ©Á«∏ÿÊ, ªÈ¡⁄UÊÃË, ∑§Ê¥∑§áÊË, ◊ÁáÊ¬È⁄UË, •‚Á◊ÿÊ,
Ÿ¬Ê‹Ë, ∑§‡◊Ë⁄UË, ‚¥S∑Î§Ã§•ÊÒ⁄U Á‚¥œË–
∑Î§¬ÿÊ ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŒ∞ ª∞ ’ÊÚÄ‚ ◊¥ Á‹π¥ Á∑§ •Ê¬ Á∑§‚ ÷Ê·Ê ◊¥ ©ûÊ⁄U Á‹π ⁄U„ „Ò¥–

(π) ÿÁŒ •Ê¬ Á„¥ŒË ∞fl¥ •¥ª˝¡Ë ∑§ •ÁÃÁ⁄UÄÃ Á∑§‚Ë •ãÿ ÷Ê·Ê ◊¥ ©ûÊ⁄U Á‹πÃ „Ò¥ ÃÊ ¬˝‡Ÿ ∑§Ê ‚◊¤ÊŸ ◊¥ „ÊŸ flÊ‹Ë
òÊÈÁ≈UÿÊ¥/ª‹ÁÃÿÊ¥ ∑§Ë Á¡ê◊UŒÊ⁄Ë ∑ fl‹ •Ê¬∑§Ë „ÊªË–

This Question Paper consists of 32 questions and 8 printed pages.

ß‚ ¬˝‡Ÿ-¬òÊ ◊¥ 32 ¬˝‡Ÿ ÃÕÊ 8 ◊ÈÁŒ˝Ã ¬Îc∆U „Ò¥–

Roll No.

•ŸÈ∑˝§◊Ê¥∑§
Code No.

∑§Ê«U Ÿ¥.
64/OSS/2

SET/‚≈ B
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ECONOMICS

•Õ¸‡ÊÊSòÊ
(318)

Time : 3 Hours ] [ Maximum Marks : 100

‚◊ÿ — 3 ÉÊá≈U ] [ ¬ÍáÊÊZ∑§ — 100

Note : (i) All questions are compulsory.

(ii) Marks allotted to each question are indicated against it.

(iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B), (C) and (D)
out of which one is most appropriate.  Choose the correct answer among the four
alternatives and write it in your answer-book against the number of the question.  No
extra time is allotted for attempting multiple choice questions.

ÁŸŒ¸‡Ê — (i) ‚÷Ë ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞–

(ii) ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ‚Ê◊Ÿ ©‚∑§ •¥∑§ Á‹π ª∞ „Ò¥–

(iii) ¬˝‡Ÿ ‚¥ÅÿÊ 1 ‚ 10 Ã∑§ ∑§ ¬˝àÿ∑§ ¬˝‡Ÿ ◊¥ øÊ⁄U Áfl∑§À¬ - (A), (B), (C) ÃÕÊ (D) „Ò¥, Á¡Ÿ◊¥ ‚ ∞∑§ ‚’‚
©¬ÿÈÄÃ „Ò–  øÊ⁄UÊ¥ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚„Ë ©ûÊ⁄U øÈŸ¥ ÃÕÊ •¬ŸË ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ ∑§ ‚Ê◊Ÿ ©ûÊ⁄U Á‹π¥–
’„È-Áfl∑§À¬Ë ¬˝‡ŸÊ¥ ∑§ Á‹∞ •ÁÃÁ⁄UÄÃ ‚◊ÿ Ÿ„Ë¥ ÁŒÿÊ ¡Ê∞ªÊ–

1. Which of the following statements is true ? 1

(A) MPC and Investment multiplier are inversely related

(B) APS and Investment multiplier  are directly related

(C) There is no relation between  APC  and Investment multiplier

(D) MPS and Investment multiplier are directly related

ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÊ¥ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∆UË∑§ „Ò?

(A) ‚Ë.©.¬˝. (MPC) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ Áfl¬⁄UËÃ ‚ê’ãœ „ÊÃÊ „Ò–

(B) •ÊÒ.’.¬˝. (APS) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ ¬˝àÿˇÊ ‚ê’ãœ „ÊÃÊ „Ò–

(C) •ÊÒ.©.¬˝. (APC) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ ∑§Êß¸ ‚ê’ãœ Ÿ„Ë¥ „ÊÃÊ

(D) ‚Ë.’.¬˝. (MPS) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ ¬˝àÿˇÊ ‚ê’ãœ „ÊÃÊ „Ò–
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2. In a situation of excess supply of a commodity _________. 1

(A) its price starts rising

(B) its demand and price start falling

(C) its price starts falling and its demand starts rising

(D) its demand and supply both starts falling

∞∑§ flSÃÈ ∑§Ë •Ê¬ÍÁÃ¸ •ÊÁœÄÿ ∑§Ë ÁSÕÁÃ ◊¥ _________–

(A) ©‚∑§Ë ∑§Ë◊Ã ’…∏Ÿ ‹ªÃË „Ò–

(B) ©‚∑§Ë ◊Ê°ª •ÊÒ⁄U ∑§Ë◊Ã ÉÊ≈UŸ ‹ªÃË „Ò–

(C) ©‚∑§Ë ∑§Ë◊Ã ÉÊ≈UŸ •ÊÒ⁄U ◊Ê°ª ’…∏Ÿ ‹ªÃË „Ò–

(D) ©‚∑§Ë ◊Ê°ª •ÊÒ⁄U •Ê¬ÍÁÃ¸ ŒÊŸÊ¥ ÉÊ≈UŸ ‹ªÃË „Ò–

3. Total utility is maximum when __________. 1

(A) marginal utility is maximum

(B) marginal utility is equal to total utility

(C) marginal utility is zero

(D) marginal utility is greater than total utility

∑È§‹ ©¬ÿÊÁªÃÊ •Áœ∑§Ã◊ „ÊÃË „Ò ¡’ —

(A) ‚Ë◊ÊãÃ ©¬ÿÊÁªÃÊ •Áœ∑§Ã◊ „Ê

(B) ‚Ë◊ÊãÃ ©¬ÿÊÁªÃÊ ∑È§‹ ©¬ÿÊÁªÃÊ ∑§ ’⁄UÊ’⁄U „Ê

(C) ‚Ë◊ÊãÃ ©¬ÿÊÁªÃÊ ‡ÊÍãÿ „Ê

(D) ‚Ë◊ÊãÃ ©¬ÿÊÁªÃÊ ∑È§‹ ©¬ÿÊÁªÃÊ ‚ •Áœ∑§ „Ê

4. The value of mpc can be __________. 1

(A) greater than the value of mps

(B) less than the value of mps

(C) equal to the value of mps

(D) any one of the above

‚Ë.©.¬˝. (mpc) ∑§Ê ◊ÍÀÿ __________–

(A) ‚Ë.’.¬˝. (mps) ‚ •Áœ∑§ „Ê ‚∑§ÃÊ „Ò

(B) ‚Ë.’.¬˝. (mps) ‚ ∑§◊ „Ê ‚∑§ÃÊ „Ò

(C) ‚Ë.’.¬˝. (mps) ∑§ ’⁄UÊ’⁄U „Ê ‚∑§ÃÊ „Ò

(D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ ÷Ë
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5. In which phase of the Law of Variable Proportions Total Physical Product increases ? 1

(A) All the phases

(B) Only first phase

(C) First and second phase

(D) Only second phase

¬Á⁄UflÃË¸ •ŸÈ¬ÊÃÊ¥ ∑§ ÁŸÿ◊ ∑§Ë Á∑§‚ •flSÕÊ ◊¥ ∑È§‹ ÷ÊÒÁÃ∑§ ©à¬ÊŒ ’…∏ÃÊ „Ò?

(A) ‚÷Ë •flSÕÊ•Ê¥ ◊¥

(B) ∑§fl‹ ¬„‹Ë •flSÕÊ ◊¥

(C) ¬„‹Ë •ÊÒ⁄U ŒÍ‚⁄UË •flSÕÊ ◊¥

(D) ∑§fl‹ ŒÍ‚⁄UË •flSÕÊ ◊¥

6. Which of the following is a measure of central tendency ? 1

(A) Arithmetic mean (B) Quartile

(C) Mode (D) All of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ãŒ˝Ëÿ ¬˝flÎÁûÊ ∑§Ê ◊Ê¬ „Ò?

(A) •¥∑§ªÁáÊÃËÿ ◊Êäÿ (B) øÃÈÕ¸∑§

(C) ’„È‹∑§ (D) ©¬⁄UÊÄÃ ‚÷Ë

7. Indifference curve is always __________. 1

(A) parallel to ox-axis (B) negatively sloped straight line

(C) parallel to oy-axis (D) None of the above

•ŸÁœ◊ÊŸ fl∑˝§ ‚ŒÒfl __________–

(A) ox - •ˇÊ ∑§ ‚◊ÊŸÊãÃ⁄U „ÊÃË „Ò (B) ´§áÊÊà◊∑§ …∏‹ÊŸ flÊ‹Ë ‚ËœË ⁄UπÊ „ÊÃË „Ò

(C) oy - •ˇÊ ∑§ ‚◊ÊŸÊãÃ⁄U „ÊÃË „Ò (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

8. Fiscal policy is the economic policy of __________. 1

(A) Post offices (B) Central Government

(C) Central Bank of the Country (D) Commercial Banks

⁄UÊ¡∑§Ê·Ëÿ ŸËÁÃ •ÊÁÕ¸∑§ ŸËÁÃ „ÊÃË „Ò __________.

(A) «UÊ∑§ ÉÊ⁄UÊ¥ ∑§Ë (B) ∑§ãŒ˝Ëÿ ‚⁄U∑§Ê⁄U ∑§Ë

(C) Œ‡Ê ∑§ ∑§ãŒ˝Ëÿ ’Ò¥∑§ ∑§Ë (D) flÊÁáÊÁíÿ∑§ ’Ò¥∑§Ê¥ ∑§Ë

9. Which of the following is a capital receipt ? 1

(A) Recovery of Loan (B) Borrowings

(C) Disinvestment (D) All of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ë ¬Í°¡ËªÃ ¬˝ÊÁåÃ „Ò?

(A) ´§áÊ ∑§Ë fl‚Í‹Ë (B) ©œÊ⁄U ‹ŸÊ

(C) ÁflÁŸfl‡Ê (D) ©¬⁄UÊÄÃ ‚÷Ë
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10. Which of the following equations is incorrect ? 1

(A) APC+APS=1 (B) MPC+MPS=1

(C) = 

− 

1
K 

1 MPC
(D) None of the above

ÁŸêŸÁ‹ÁπÃ ‚◊Ë∑§⁄UáÊÊ¥ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ‚„Ë „Ò?

(A) •ÊÒ.©.¬˝. (APC)+•ÊÒ.’.¬˝. (APS)=1 (B) ‚Ë.©.¬˝. (MPC)+‚Ë.’.¬˝. (MPS)=1

(C)
1

K 
1  (MPC)

= 

− ‚Ë.©.¬˝. (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

11. Calculate gross value added at market price. 3

(i) Intermediate consumption   500

(ii) Net value of output at factor cost 2000

(iii) Depreciation   200

(iv) Indirect taxes   150

(v) Subsidies     50

’Ê¡Ê⁄U ◊ÍÀÿ ¬⁄U ‚∑§‹ ◊ÍÀÿ flÎÁh ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —

(i) ◊äÿflÃË¸ ©¬÷Êª   500

(ii) ‚ÊœŸ ‹ÊªÃ ¬⁄U ÁŸfl‹ ©à¬ÊŒŸ ◊ÍÀÿ 2000

(iii) ◊ÍÀÿOÊ‚   200

(iv) •¬˝àÿˇÊ ∑§⁄U   150

(v) •ÊÁÕ¸∑§ ‚„ÊÿÃÊ     50

12. Describe ‘product differentiation’ feature of monopolistic competition. 3

∞∑§ÊÁœ∑§Ê⁄UÊà◊∑§ ¬˝ÁÃÿÊÁªÃÊ ∑§Ë “©à¬ÊŒ Áfl÷Œ” Áfl‡Ê·ÃÊ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞–

13. Explain the equilibrium level of income with help of C and I curves. 3

©¬÷Êª •ÊÒ⁄U ÁŸfl‡Ê fl∑˝§Ê¥ ∑§Ë ‚„ÊÿÃÊ ‚ •Êÿ ∑§ ‚¥ÃÈ‹Ÿ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

14. What is meant by fuller utilisation of resources ?  Explain. 3

‚¥‚ÊœŸÊ¥ ∑§ ‚flÊ¸ûÊ◊ ©¬ÿÊª ∑§Ê ÄÿÊ •Õ¸ „ÊÃÊ „Ò?  ‚◊¤ÊÊß∞–

15. Explain the meaning of : 3

(a) marginal rate of substitution and

(b) budget set

ÁŸêŸÁ‹ÁπÃ ∑§ •Õ¸ ‚◊¤ÊÊß∞ —

(a) ‚Ë◊ÊãÃ ¬˝ÁÃSÕÊ¬Ÿ Œ⁄U

(b) ’¡≈U ‚≈U
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16. State any three functions of money. 3

◊ÈŒ˝Ê ∑§ ∑§Êß¸ ÃËŸ ∑§Êÿ¸ ’ÃÊß∞–

17. State the difference between Laspeyre’s price index and Paasche’s price index. 3

‹S¬Ëÿ⁄ ∑§Ë◊Ã ‚Íø∑§Ê¥∑§ •ÊÒ⁄U ¬Ê‡Ê ∑§Ë◊Ã ‚Íø∑§Ê¥∑§ ◊¥ ÄÿÊ •ãÃ⁄U „Ò?U

18. Explain the problem of ‘how to produce’. 3

“∑Ò§‚ ©à¬ÊŒŸ ∑§⁄¥U” ∑§Ë ‚◊SÿÊ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

19. Explain any two causes of a rightward shift of demand curve. 3

◊Ê°ª fl∑˝§ ∑§ ŒÊ°ÿË •Ê⁄U Áπ‚∑§Ÿ ∑§ Á∑§ã„Ë¥ ŒÊ ∑§Ê⁄UáÊÊ¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

20. What is meant by excess demand of a commodity ? What will be its effect on price of the
commodity ? Explain.

∞∑§ flSÃÈ ∑§Ë “◊Ê°ª •ÊÁœÄÿ” ∑§Ê •Õ¸ ’ÃÊß∞–  ß‚∑§Ê flSÃÈ ∑§Ë ∑§Ë◊Ã ¬⁄U ÄÿÊ ¬˝÷Êfl „ÊªÊ?  ‚◊¤ÊÊß∞–

21. Calculate arithmetic mean. 4

•¥∑§ªÁáÊÃËÿ ◊Êäÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞–
Marks No. of students

•¥∑§ ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¥ÅÿÊ
0-20 5

20-40 10

40-60 12

60-80 9

80-100 4

22. Price of commodity A falls from ` 15 per unit to ` 12 per unit and its supply falls from
400 units to 300 units.  Calculate its price elasticity of supply.

A flSÃÈ ∑§Ë ∑§Ë◊Ã ` 15 ¬˝ÁÃ ß∑§Êß¸ ‚ ÉÊ≈U∑§⁄U ` 12 ¬˝ÁÃ ß∑§Êß¸ „Ê ¡ÊÃË „Ò •ÊÒ⁄U ß‚∑§Ë •Ê¬ÍÁÃ¸ 400 ß∑§Êß¸ ‚
ÉÊ≈U∑§⁄U 300 ß∑§Êß¸ „Ê ¡ÊÃË „Ò–  ß‚∑§Ë •Ê¬ÍÁÃ¸ ∑§Ë ∑§Ë◊Ã ‹Êø ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞–

23. Distinguish between : 4

(a) Implicit cost and explicit cost

(b) Fixed cost and variable cost

÷Œ ∑§ËÁ¡∞ —

(a) •¥ÃÁŸ¸Á„Ã ‹ÊªÃ •ÊÒ⁄U S¬c≈U ‹ÊªÃ

(b) ÁSÕ⁄U ‹ÊªÃ •ÊÒ⁄U ¬Á⁄UflÃË¸ ‹ÊªÃ

24. Define fiscal deficit.  State three ways by which central government finances this deficit.

⁄UÊ¡∑§Ê·Ëÿ ÉÊÊ≈U ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞–  ‚⁄U∑§Ê⁄U mÊ⁄UÊ ß‚ ÉÊÊ≈U ∑§ ÁflûÊ ¬Ê·áÊ ∑§ ÃËŸ Ã⁄UË∑§Ê¥ ∑§Ê ’ÃÊß∞–

4

3

4
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25. Explain any two main problems faced under the barter system of exchange. 4

flSÃÈ ÁflÁŸ◊ÿ ¬˝áÊÊ‹Ë ∑§Ë Á∑§ã„Ë¥ ŒÊ ◊ÈÅÿ ‚◊SÿÊ•Ê¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

26. Explain any two determinants of propensity to consume. 4

©¬÷Êª ∑§Ë ¬˝flÎÁûÊ ∑§ Á∑§ã„Ë¥ ŒÊ ÁŸœÊ¸⁄U∑§Ê¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

27. Explain the law of variable proportions with the help of a marginal product schedule.

∞∑§ ‚Ë◊ÊãÃ ©à¬ÊŒ ÃÊÁ‹∑§Ê ∑§Ë ‚„ÊÿÃÊ ‚ ¬Á⁄UflÃË¸ •ŸÈ¬ÊÃÊ¥ ∑§ ÁŸÿ◊ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

28. Explain the interrelationship between production, consumption and investment. 6

©à¬ÊŒŸ, ©¬÷Êª •ÊÒ⁄U ÁŸfl‡Ê ∑§ ¬Ê⁄US¬Á⁄U∑§ ‚¥’¥œ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

29. Define price elasticity of demand.  State the factors that affect price elasticity of demand.

◊Ê°ª ∑§Ë ∑§Ë◊Ã ‹Êø ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞–  ◊Ê°ª ∑§Ë ‹Êø ∑§Ê ¬˝÷ÊÁflÃ ∑§⁄UŸ flÊ‹ ∑§Ê⁄U∑§Ê¥ ∑§Ë ‚ÍøË ’ŸÊß∞–

30. Calculate National Income. 6

(Rs. in lakhs)

(i) Mixed income of self employed 290

(ii) Rent 20

(iii) Compensation of employees 100

(iv) Net exports       −(10)

(v) Net indirect taxes 20

(vi) Net factor income from abroad       −(15)

(vii) Profit 40

(viii) Interest 15

(ix) Bonus 25

(x) Employees contribution to social security 10

⁄UÊc≈˛UËÿ •Êÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —

(L§. ‹ÊπÊ¥ ◊¥)

(i) SflÁŸÿÊÁ¡ÃÊ¥ ∑§Ë Á◊ÁüÊÃ •Êÿ 290

(ii) Á∑§⁄UÊÿÊ 20

(iii) ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê ¬ÊÁ⁄UüÊÁ◊∑§ 100

(iv) ÁŸfl‹ ÁŸÿÊ¸Ã       −(10)

(v) ÁŸfl‹ •¬˝àÿˇÊ ∑§⁄U 20

(vi) ÁflŒ‡ÊÊ¥ ‚ ÁŸfl‹ ‚ÊœŸ •Êÿ       −(15)

(vii) ‹Ê÷ 40

(viii) éÿÊ¡ 15

(ix) ’ÊŸ‚ 25

(x) ‚Ê◊ÊÁ¡∑§ ‚È⁄UˇÊÊ ◊¥ ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê ÿÊªŒÊŸ 10

6

6
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31. Calculate Quartile Deviation and Coefficient of Quartile Deviation. 6

øÃÈÕ¸∑§ Áflø‹Ÿ •ÊÒ⁄U øÃÈÕ¸∑§ Áflø‹Ÿ ªÈáÊÊ¥∑§ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —

Marks Number of Students

•¥∑§ ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¥ÅÿÊ

4 6

5 8

6 10

8 14

10 12

32. Calculate Rank Correlation. 6

∑˝§◊ ‚„‚ê’ãœ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞–

Marks in Mathematics

ªÁáÊÃ ◊¥ •¥∑§
20 16 26 10 28

Marks in English

•¥ª̋¡Ë ◊¥ •¥∑§
24 28 14 18 16

- o O o -
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ECONOMICS

•Õ¸‡ÊÊSòÊ
(318)

Time : 3 Hours ] [ Maximum Marks : 100

‚◊ÿ — 3 ÉÊá≈U ] [ ¬ÍáÊÊZ∑§ — 100

Note : (i) All questions are compulsory.

(ii) Marks allotted to each question are indicated against it.

(iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B), (C) and (D)
out of which one is most appropriate.  Choose the correct answer among the four
alternatives and write it in your answer-book against the number of the question.  No
extra time is allotted for attempting multiple choice questions.

ÁŸŒ¸‡Ê — (i) ‚÷Ë ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞–

(ii) ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ‚Ê◊Ÿ ©‚∑§ •¥∑§ Á‹π ª∞ „Ò¥–

(iii) ¬˝‡Ÿ ‚¥ÅÿÊ 1 ‚ 10 Ã∑§ ∑§ ¬˝àÿ∑§ ¬˝‡Ÿ ◊¥ øÊ⁄U Áfl∑§À¬ - (A), (B), (C) ÃÕÊ (D) „Ò¥, Á¡Ÿ◊¥ ‚ ∞∑§ ‚’‚
©¬ÿÈÄÃ „Ò–  øÊ⁄UÊ¥ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚„Ë ©ûÊ⁄U øÈŸ¥ ÃÕÊ •¬ŸË ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ ∑§ ‚Ê◊Ÿ ©ûÊ⁄U Á‹π¥–
’„È-Áfl∑§À¬Ë ¬˝‡ŸÊ¥ ∑§ Á‹∞ •ÁÃÁ⁄UÄÃ ‚◊ÿ Ÿ„Ë¥ ÁŒÿÊ ¡Ê∞ªÊ–

1. The value of mpc can be __________. 1

(A) greater than the value of mps

(B) less than the value of mps

(C) equal to the value of mps

(D) any one of the above

‚Ë.©.¬˝. (mpc) ∑§Ê ◊ÍÀÿ __________–

(A) ‚Ë.’.¬˝. (mps) ‚ •Áœ∑§ „Ê ‚∑§ÃÊ „Ò

(B) ‚Ë.’.¬˝. (mps) ‚ ∑§◊ „Ê ‚∑§ÃÊ „Ò

(C) ‚Ë.’.¬˝. (mps) ∑§ ’⁄UÊ’⁄U „Ê ‚∑§ÃÊ „Ò

(D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ ÷Ë
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2. Which of the following statements is true ? 1

(A) MPC and Investment multiplier are inversely related

(B) APS and Investment multiplier  are directly related

(C) There is no relation between  APC  and Investment multiplier

(D) MPS and Investment multiplier are directly related

ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÊ¥ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∆UË∑§ „Ò?

(A) ‚Ë.©.¬˝. (MPC) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ Áfl¬⁄UËÃ ‚ê’ãœ „ÊÃÊ „Ò–

(B) •ÊÒ.’.¬˝. (APS) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ ¬˝àÿˇÊ ‚ê’ãœ „ÊÃÊ „Ò–

(C) •ÊÒ.©.¬˝. (APC) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ ∑§Êß¸ ‚ê’ãœ Ÿ„Ë¥ „ÊÃÊ

(D) ‚Ë.’.¬˝. (MPS) •ÊÒ⁄U ÁŸfl‡Ê ªÈáÊ∑§ ◊¥ ¬˝àÿˇÊ ‚ê’ãœ „ÊÃÊ „Ò–

3. A consumer consumes two commodities X and Y.  According to utility analysis which of the
following is consumer’s  equilibrium condition ?

(A) M.Ux=M.Uy

(B) M.Ux×Pricex=M.Uy×Pricey

(C)
yx

x y

M.UM.U
  

P P
=

(D) None of the above

∞∑§ ©¬÷ÊÄÃÊ X •ÊÒ⁄U Y ŒÊ flSÃÈ•Ê¥ ∑§Ê ©¬÷Êª ∑§⁄UÃÊ „Ò–  ©¬ÿÊÁªÃÊ Áfl‡‹·áÊ ∑§ •ŸÈ‚Ê⁄U ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ë
©¬÷ÊÄÃÊ ∑§ ‚¥ÃÈ‹Ÿ ∑§Ë ‡ÊÃ¸ „Ò?

(A) ‚Ë.©.x=‚Ë.©.y

(B) ‚Ë.©.x×∑§Ë◊Ãx=‚Ë.©.y×∑§Ë◊Ãy

(C)
yx

x y

  =
‚Ë.©.‚Ë.©.

∑§Ë◊Ã ∑§Ë◊Ã

(D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

4. Which of the following is a capital receipt ? 1

(A) Recovery of Loan (B) Borrowings

(C) Disinvestment (D) All of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ë ¬Í°¡ËªÃ ¬˝ÊÁåÃ „Ò?

(A) ´§áÊ ∑§Ë fl‚Í‹Ë (B) ©œÊ⁄U ‹ŸÊ

(C) ÁflÁŸfl‡Ê (D) ©¬⁄UÊÄÃ ‚÷Ë

1
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5. Total Physical Product (TPP) is equal to : 1

(A) Sum of Marginal Physical Products

(B) Marginal Physical Product × units of variable factor

(C) Average Physical Product × units of variable factor

(D) (A) and (C) Both

∑È§‹ ÷ÊÒÁÃ∑§ ©à¬ÊŒ ’⁄UÊ’⁄U „ÊÃÊ „Ò —
(A) ‚Ë◊ÊãÃ ÷ÊÒÁÃ∑§ ©à¬ÊŒÊ¥ ∑§ ÿÊª ∑§
(B) ‚Ë◊ÊãÃ ÷ÊÒÁÃ∑§ ©à¬ÊŒ × ¬Á⁄UflÃË¸ ‚ÊœŸ ∑§Ë ß∑§ÊßÿÊ¥ ∑§
(C) •ÊÒ‚Ã ÷ÊÒÁÃ∑§ ©à¬ÊŒ × ¬Á⁄UflÃË¸ ‚ÊœŸÊ¥ ∑§Ë ß∑§ÊßÿÊ¥ ∑§
(D) (A) •ÊÒ⁄U (C) ŒÊŸÊ¥ ∑§

6. Which of the following equations is incorrect ? 1

(A) APC+APS=1 (B) MPC+MPS=1

(C) = 

− 

1
K 

1 MPC
(D) None of the above

ÁŸêŸÁ‹ÁπÃ ‚◊Ë∑§⁄UáÊÊ¥ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ‚„Ë „Ò?
(A) •ÊÒ.©.¬˝. (APC)+•ÊÒ.’.¬˝. (APS)=1 (B) ‚Ë.©.¬˝. (MPC)+‚Ë.’.¬˝. (MPS)=1

(C)
1

K 
1  (MPC)

= 

− ‚Ë.©.¬˝. (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

7. Fiscal policy is the economic policy of __________. 1

(A) Post offices (B) Central Government

(C) Central Bank of the Country (D) Commercial Banks

⁄UÊ¡∑§Ê·Ëÿ ŸËÁÃ •ÊÁÕ¸∑§ ŸËÁÃ „ÊÃË „Ò __________.
(A) «UÊ∑§ ÉÊ⁄UÊ¥ ∑§Ë (B) ∑§ãŒ˝Ëÿ ‚⁄U∑§Ê⁄U ∑§Ë
(C) Œ‡Ê ∑§ ∑§ãŒ˝Ëÿ ’Ò¥∑§ ∑§Ë (D) flÊÁáÊÁíÿ∑§ ’Ò¥∑§Ê¥ ∑§Ë

8. Which of the following is a measure of central tendency ? 1

(A) Arithmetic mean (B) Quartile

(C) Mode (D) All of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ãŒ˝Ëÿ ¬˝flÎÁûÊ ∑§Ê ◊Ê¬ „Ò?
(A) •¥∑§ªÁáÊÃËÿ ◊Êäÿ (B) øÃÈÕ¸∑§
(C) ’„È‹∑§ (D) ©¬⁄UÊÄÃ ‚÷Ë

9. Indifference curve is always __________. 1

(A) parallel to ox-axis (B) negatively sloped straight line

(C) parallel to oy-axis (D) None of the above

•ŸÁœ◊ÊŸ fl∑˝§ ‚ŒÒfl __________–
(A) ox - •ˇÊ ∑§ ‚◊ÊŸÊãÃ⁄U „ÊÃË „Ò (B) ´§áÊÊà◊∑§ …∏‹ÊŸ flÊ‹Ë ‚ËœË ⁄UπÊ „ÊÃË „Ò
(C) oy - •ˇÊ ∑§ ‚◊ÊŸÊãÃ⁄U „ÊÃË „Ò (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥
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10. In a situation of excess supply of a commodity _________. 1

(A) its price starts rising

(B) its demand and price start falling

(C) its price starts falling and its demand starts rising

(D) its demand and supply both starts falling

∞∑§ flSÃÈ ∑§Ë •Ê¬ÍÁÃ¸ •ÊÁœÄÿ ∑§Ë ÁSÕÁÃ ◊¥ _________–

(A) ©‚∑§Ë ∑§Ë◊Ã ’…∏Ÿ ‹ªÃË „Ò–

(B) ©‚∑§Ë ◊Ê°ª •ÊÒ⁄U ∑§Ë◊Ã ÉÊ≈UŸ ‹ªÃË „Ò–

(C) ©‚∑§Ë ∑§Ë◊Ã ÉÊ≈UŸ •ÊÒ⁄U ◊Ê°ª ’…∏Ÿ ‹ªÃË „Ò–

(D) ©‚∑§Ë ◊Ê°ª •ÊÒ⁄U •Ê¬ÍÁÃ¸ ŒÊŸÊ¥ ÉÊ≈UŸ ‹ªÃË „Ò–

11. Explain the meaning of : 3

(a) marginal rate of substitution and

(b) budget set

ÁŸêŸÁ‹ÁπÃ ∑§ •Õ¸ ‚◊¤ÊÊß∞ —

(a) ‚Ë◊ÊãÃ ¬˝ÁÃSÕÊ¬Ÿ Œ⁄U

(b) ’¡≈U ‚≈U

12. Explain any two causes of a rightward shift of demand curve. 3

◊Ê°ª fl∑˝§ ∑§ ŒÊ°ÿË •Ê⁄U Áπ‚∑§Ÿ ∑§ Á∑§ã„Ë¥ ŒÊ ∑§Ê⁄UáÊÊ¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

13. State any three functions of money. 3

◊ÈŒ˝Ê ∑§ ∑§Êß¸ ÃËŸ ∑§Êÿ¸ ’ÃÊß∞–

14. What is meant by excess demand of a commodity ? What will be its effect on price of the
commodity ? Explain.

∞∑§ flSÃÈ ∑§Ë “◊Ê°ª •ÊÁœÄÿ” ∑§Ê •Õ¸ ’ÃÊß∞–  ß‚∑§Ê flSÃÈ ∑§Ë ∑§Ë◊Ã ¬⁄U ÄÿÊ ¬˝÷Êfl „ÊªÊ?  ‚◊¤ÊÊß∞–

15. Explain the equilibrium level of income with help of C and I curves. 3

©¬÷Êª •ÊÒ⁄U ÁŸfl‡Ê fl∑˝§Ê¥ ∑§Ë ‚„ÊÿÃÊ ‚ •Êÿ ∑§ ‚¥ÃÈ‹Ÿ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

16. What is meant by fuller utilisation of resources ?  Explain. 3

‚¥‚ÊœŸÊ¥ ∑§ ‚flÊ¸ûÊ◊ ©¬ÿÊª ∑§Ê ÄÿÊ •Õ¸ „ÊÃÊ „Ò?  ‚◊¤ÊÊß∞–

17. What is an index Number ?  State the difference between un-weighted and weighted index
numbers.

‚Íø∑§Ê¥∑§ ÄÿÊ „ÊÃÊ „Ò?  ÷Ê⁄U-⁄UÁ„Ã •ÊÒ⁄U ÷Ê⁄U-ÿÈÄÃ ‚Íø∑§Ê¥∑§ ◊¥ •ãÃ⁄U ’ÃÊß∞–

3

3
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18. Describe ‘product differentiation’ feature of monopolistic competition. 3

∞∑§ÊÁœ∑§Ê⁄UÊà◊∑§ ¬˝ÁÃÿÊÁªÃÊ ∑§Ë “©à¬ÊŒ Áfl÷Œ” Áfl‡Ê·ÃÊ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞–

19. Explain the problem of ‘how to produce’. 3

“∑Ò§‚ ©à¬ÊŒŸ ∑§⁄¥U” ∑§Ë ‚◊SÿÊ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

20. Calculate gross value added at market price. 3

(i) Intermediate consumption   500

(ii) Net value of output at factor cost 2000

(iii) Depreciation   200

(iv) Indirect taxes   150

(v) Subsidies     50

’Ê¡Ê⁄U ◊ÍÀÿ ¬⁄U ‚∑§‹ ◊ÍÀÿ flÎÁh ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —

(i) ◊äÿflÃË¸ ©¬÷Êª   500

(ii) ‚ÊœŸ ‹ÊªÃ ¬⁄U ÁŸfl‹ ©à¬ÊŒŸ ◊ÍÀÿ 2000

(iii) ◊ÍÀÿOÊ‚   200

(iv) •¬˝àÿˇÊ ∑§⁄U   150

(v) •ÊÁÕ¸∑§ ‚„ÊÿÃÊ     50

21. Calculate arithmetic mean. 4

•¥∑§ªÁáÊÃËÿ ◊Êäÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞–
Marks Number of Students

•¥∑§ ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¥ÅÿÊ
0-10 20

10-20 30

20-30 40

30-40 30

40-50 20

22. Price elasticity of supply of commodity A is 1.5.  What percentage change in price will increase
its supply by 12 percent ?

A flSÃÈ ∑§Ë •Ê¬ÍÁÃ¸ ∑§Ë ∑§Ë◊Ã ‹Êø 1.5 „Ò–  ß‚∑§Ë ∑§Ë◊Ã ◊¥ Á∑§ÃŸ ¬˝ÁÃ‡ÊÃ ¬Á⁄UflÃ¸Ÿ ‚ ß‚∑§Ê •Ê¬ÍÁÃ¸ 12 ¬˝ÁÃ‡ÊÃ
’…∏ ¡Ê∞ªË?

23. Define fiscal deficit.  State three ways by which central government finances this deficit.

⁄UÊ¡∑§Ê·Ëÿ ÉÊÊ≈U ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞–  ‚⁄U∑§Ê⁄U mÊ⁄UÊ ß‚ ÉÊÊ≈U ∑§ ÁflûÊ ¬Ê·áÊ ∑§ ÃËŸ Ã⁄UË∑§Ê¥ ∑§Ê ’ÃÊß∞–

4

4
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24. Explain any two main problems faced under the barter system of exchange. 4

flSÃÈ ÁflÁŸ◊ÿ ¬˝áÊÊ‹Ë ∑§Ë Á∑§ã„Ë¥ ŒÊ ◊ÈÅÿ ‚◊SÿÊ•Ê¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

25. Explain any two determinants of propensity to consume. 4

©¬÷Êª ∑§Ë ¬˝flÎÁûÊ ∑§ Á∑§ã„Ë¥ ŒÊ ÁŸœÊ¸⁄U∑§Ê¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

26. Distinguish between : 4

(a) Implicit cost and explicit cost

(b) Fixed cost and variable cost

÷Œ ∑§ËÁ¡∞ —

(a) •¥ÃÁŸ¸Á„Ã ‹ÊªÃ •ÊÒ⁄U S¬c≈U ‹ÊªÃ

(b) ÁSÕ⁄U ‹ÊªÃ •ÊÒ⁄U ¬Á⁄UflÃË¸ ‹ÊªÃ

27. Calculate Quartile Deviation and Coefficient of Quartile Deviation. 6

øÃÈÕ¸∑§ Áflø‹Ÿ •ÊÒ⁄U øÃÈÕ¸∑§ Áflø‹Ÿ ªÈáÊÊ¥∑§ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —

Marks Number of Students

•¥∑§ ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¥ÅÿÊ

4 6

5 8

6 10

8 14

10 12

28. Explain  any four precautions that should be taken while measuring national income by
production (value-added) method.

©à¬ÊŒŸ (◊ÍÀÿ flÎÁh) ÁflÁœ mÊ⁄UÊ ⁄UÊc≈˛UËÿ •Êÿ ∑§Ë ªáÊŸÊ ∑§⁄UÃ ‚◊ÿ ’⁄UÃË ¡ÊŸ flÊ‹Ë ∑§Êß¸ øÊ⁄U ‚ÊflœÊÁŸÿÊ¥ ∑§Ë
√ÿÊÅÿÊ ∑§ËÁ¡∞–

29. Explain the law of variable proportions with the help of a marginal product schedule.

∞∑§ ‚Ë◊ÊãÃ ©à¬ÊŒ ÃÊÁ‹∑§Ê ∑§Ë ‚„ÊÿÃÊ ‚ ¬Á⁄UflÃË¸ •ŸÈ¬ÊÃÊ¥ ∑§ ÁŸÿ◊ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

30. Define price elasticity of demand.  State the factors that affect price elasticity of demand.

◊Ê°ª ∑§Ë ∑§Ë◊Ã ‹Êø ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞–  ◊Ê°ª ∑§Ë ‹Êø ∑§Ê ¬˝÷ÊÁflÃ ∑§⁄UŸ flÊ‹ ∑§Ê⁄U∑§Ê¥ ∑§Ë ‚ÍøË ’ŸÊß∞–

6

6

6
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31. Calculate National Income. 6

(Rs. in lakhs)

(i) Mixed income of self employed 290

(ii) Rent 20

(iii) Compensation of employees 100

(iv) Net exports       −(10)

(v) Net indirect taxes 20

(vi) Net factor income from abroad       −(15)

(vii) Profit 40

(viii) Interest 15

(ix) Bonus 25

(x) Employees contribution to social security 10

⁄UÊc≈˛UËÿ •Êÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —

(L§. ‹ÊπÊ¥ ◊¥)

(i) SflÁŸÿÊÁ¡ÃÊ¥ ∑§Ë Á◊ÁüÊÃ •Êÿ 290

(ii) Á∑§⁄UÊÿÊ 20

(iii) ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê ¬ÊÁ⁄UüÊÁ◊∑§ 100

(iv) ÁŸfl‹ ÁŸÿÊ¸Ã       −(10)

(v) ÁŸfl‹ •¬˝àÿˇÊ ∑§⁄U 20

(vi) ÁflŒ‡ÊÊ¥ ‚ ÁŸfl‹ ‚ÊœŸ •Êÿ       −(15)

(vii) ‹Ê÷ 40

(viii) éÿÊ¡ 15

(ix) ’ÊŸ‚ 25

(x) ‚Ê◊ÊÁ¡∑§ ‚È⁄UˇÊÊ ◊¥ ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê ÿÊªŒÊŸ 10

32. Calculate Rank-Correlation from the following data. 6

ÁŸêŸÁ‹ÁπÃ •Ê°∑§«∏Ê¥ ‚ ‚„-‚¥’¥œ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞–

Marks in Hindi

Á„ãŒË ◊¥ •¥∑§
13 10 9 15 16

Marks in English

•¥ª̋¡Ë ◊¥ •¥∑§
8 12 14 7 9
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